This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 10 - Coatbridge West

3,894

3

974

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Kevin DOCHERTY	Scottish Labour Party	1,159
Mary GOURLAY	Scottish Labour Party	374
Lesley MITCHELL	Scottish National Party (SNP)	1,254
Gary ROBINSON	Scottish National Party (SNP)	613
Laraine SHIELDS	Scottish Conservative and Unionist	240
Robert SLAVIN	Alba Party for independence	254
	Total	3,894

Candidate Kevin DOCHERTY Elected with 1,159 votes, being in excess of the quota of 974 Candidate Lesley MITCHELL Elected with 1,254 votes, being in excess of the quota of 974

This report contains the transfers results.

## Stage 2 - Surplus of Lesley MITCHELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary GOURLAY	28	0.22328	6.25184
Transfer to Gary ROBINSON	1,146	0.22328	255.87888
Transfer to Robert SLAVIN	36	0.22328	8.03808
No further preference	43	0.22328	9.60104
Not transferred due to rounding			0.00688
	Total		280.00000

This report contains the transfers results.

## Stage 3 - Surplus of Kevin DOCHERTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary GOURLAY	941	0.15962	150.20242
Transfer to Gary ROBINSON	45	0.15962	7.18290
Transfer to Laraine SHIELDS	25	0.15962	3.99050
Transfer to Robert SLAVIN	38	0.15962	6.06556
No further preference	110	0.15962	17.55820
Not transferred due to rounding			0.00042
	Total		185.00000

This report contains the transfers results.

# Stage 4 - Exclusion of Laraine SHIELDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary GOURLAY	116	1.00000	116.00000
Transfer to Gary ROBINSON	9	1.00000	9.00000
Transfer to Robert SLAVIN	19	1.00000	19.00000
Transfer to Gary ROBINSON	1	0.22328	0.22328
Transfer to Mary GOURLAY	14	0.15962	2.23468
Transfer to Robert SLAVIN	3	0.15962	0.47886
No further preference	96	1.00000	96.00000
No further preference	8	0.15962	1.27696
Not transferred due to rounding			0.00000
	Total		244.21378

This report contains the transfers results.

## Stage 5 - Exclusion of Robert SLAVIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary GOURLAY	56	1.00000	56.00000
Transfer to Gary ROBINSON	148	1.00000	148.00000
Transfer to Mary GOURLAY	4	0.22328	0.89312
Transfer to Gary ROBINSON	19	0.22328	4.24232
Transfer to Mary GOURLAY	20	0.15962	3.19240
Transfer to Gary ROBINSON	5	0.15962	0.79810
No further preference	69	1.00000	69.00000
No further preference	13	0.22328	2.90264
No further preference	16	0.15962	2.55392
Not transferred due to rounding			0.00000
	Total		287.58250